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For each question from 1 to 24, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer Sheet

(OAS). [48 marks]
1  Living things need air, food and water to stay alive.
‘Which set-up should be used to keep a grasshopper alive?
plastic plate plastic plate
(1) without holes @ with holes
leaf water
3) plastic plate “4) plastic plate
with holes with holes
water

leaf

The leaf helps the plant to

1)
2)
(3)
)

absorb minerals
absorb water
grow upright

make food

(Go on to the next page)



Which characteristic is used to identify an insect?
(1)  They have hair.

(2) They have wings.

(3) They have six fegs.

(4) They live in water.

A, B, C and D are the various stages in the life cycle of a mosquito.

A
A B C D

Which of the following correctly shows the life cycle of a mosquito?

(1) @
B B
Vi N . .
A & = D

[ o | ¥ | ¢ | ¥

3) @
C D
Va AW Ve e
B C
A A

(Go on to the next page)



5  Which human system is shown in the diagram below?

(1) skeletal system
(2) muscular system
(3) circulatory system

(4) respiratory system

6 The table below shows the characteristics that 3 living things, X, Y and Z have,

Living things
X Y Z
Characteristics
Make its own fodd Yes No No
Can.be useful / harmful Yes Yes Yes
Needs microscope to see it No No Yes

Which of the following groups do X, Y and Z belong to respectively?

X Y 2
1 fungi fern bacteria
@) fern fungi bacteria
{3) bacteria fungi fern
(4) fern | bacteria fungi

(Go onto the next page)



7  May placed three similar seeds in each of the two similar dishes, V and W, which
contained wet soil. She placed dish V near the window in her room and dish W
in a closed cupboard. The experimental set-up is shown below.

closed cupboard

dish V dish W
(near window) {(in a closed cupboard)
May recorded her observations in the graph below.
Average height of
seedling (cm)
A
12 ——
dish W
8 _ dishV
4 ol e - =
0 =21 l | | | - Number
! ! | l { of days
0 2 4 6 8 10

She made the following statements about her observation.

A Light was necessary for the seeds to grow.
B  The seeds in dish W did not have air to grow.

C  The seedlings in the cupboard grew taller than those placed near the
window.

Which statement(s) is/are correct?
(1) Aonly

(2) Conly

(3) Band Conly

(4) A,BandC

(Go on to the next page)
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8 Alyssa set up the experiment as shown below.

layer of
oil

. Qfgé /roots\\ / \\
ff 120m = ——————— 120ml
Z IARE dowater~§ AN =- = = .7 | water
- = e -
o o e seorten )
set-up P set-up Q set-up

She left the set-ups near a window for three days.
Which one of the following graphs most likely shows the amount of water left in

each set-up after three days?
(n

amount of
water left (ml)

A

120 .

: set-up
(3
amount of
water left (ml)
A
120 -
set-up

2

amount of
water left (ml)

120 |

set-up

{4)

amount of
water left (ml)

4

120 -

set-up

(Go on to the next page)
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Wei Ling collected some information on three different organisms P, Q and R
and recorded it in a table as shown below.

Organisms
Characteristics P Q R
lts young moulis Yes Yes Yes
Has 3 stages in its life cycle Yes Yes No
Spends patt of its life cycle in Yes No No
water

Based on the information given, which of the following statements are correct?

A
B
G

M
)
&)
(4)

P can be a chicken.

Q can be a cockroach.

The young of R does not look like its adult.

A and B only
A and C only
B and C only

A, B and C only

(Go on to the next page)
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Study the chart below.

Organisms

Which of the following is correct for P, R, V and W?

P R v w
M No feathers Has feathers Lays egg Does not lay eggs
(2) | 3 pairs of legs f;e;\;\:csarotp I:; s3 Has wings No wings
3) Has wings No wings Doe:gr:gt lay Lay eggs
“4 Lays eggs Doe:gr;;t lay gﬂa?:: :)??:gi 3 pairs of legs

(Go on to the next page)



11 Mary wanted to find out if surface area of biscuit would affect the time taken to be
completely digested. She prepared two set-ups, A and B, as shown in the diagram
below.

biscuit broken into
smaller pieces

Which variables should she keep the same to ensure a fair test?
A Type of biscuit

B Amount of digestive juice X

C  Size of the biscuit added into digestive juice X

D  Time taken for biscuit to be digested completely

(1) AandBonly

(2) BandConly

(3) AandConly

4) A/B,CandD

12 Bruce put a metal solid ball into a container of water.
At which position, A, B, C or D, would the ball most likely be found?

2 )
N\

—————— water

container

B

o _
N g

M A
2 B
@ C
@ D

(Go on to the next page)
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13 Ravi pumps air into a float.

14

—

More air can be pumped into the float even though it is already filled with air.
This is because air

(1) ismatter

(2) has afixed shape

(3) has no definite mass

(4) has no definite volume

The diagram shows a plastic block brought near to a magnet.

plastic block magnet’

What will happen to the magnet?

(1)
@
3)
4)

1t will not move.
It will move down.
1t will move to the left.

it will move to the right.

{Go on to the next page)
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15 The set-up below shows light shining on a metal sphere.

— -
o L
torch metal sphere screen

Which of the following would likely be seen on the screen?

Q) )

©) 4

(Go on 1o the next page)



12

16 Peter has a snow globe on his table as shown in the diagram below.

=

show globe
He was able to see the free in the snow globe.
What is the property of the snow globe?
Allows light to pass Reflects light
through

{1) Yes No

2) No Yes

(3) No No

4) Yes Yes

17 A metal block was placed in a fridge until its temperature was 2°C. It was then
placed into a container of water at room temperature of 30°C.

water

metal block

Which of the following correctly shows the change in temperature of the water
after one minute and the reason?

Change in
temperature Reason
of water
(1 decrease The water lost heat to the metal block.
2) increase The water gained heat from the metal block.
3) increase The water gained heat from the surroundings.
4) decrease The water lost heat to the surroundings.

{Go on to the next page)



13

18 Look at the picture below.

[j/ lamp

book on
table
Sue

Which one of the following explains why Sue can see the book on the table?

direction
— > oflight

(1) )

&
C-r) T

- L. i)

(Go on to the next page)
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19 Siti poured 20 ml of water info a measuring cylinder. She then placed object A
into the cylinder, followed by object B and finally object C.

measuring ‘ 85 ml
cylinder

30 ml

A—H

Which of the following observations is correct?

(1) Object A is heavier than object C.

(2) Object B is heavier than object A.
(3) Object C has a larger volume than object A.

{(4) Object B has a larger volume than object A.

(Go on to the next page)
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20 Four pupils set up an experiment to measure the amount of light passing through
three different materials, A, B and C for 10 seconds as shown in the diagram.

—_ 1

torch material light sensor

Their ohservations are shown below.

Materials Amount of light passed through
A Very little light
B Some light
C Most light

Which graph shows their results correctly?

(1) @)

Amount
Amount g # c
of light , of hght;} A B
(units) / (units)_
/
B
A
» Time > Time
&) (4)
Amount
Amount , of light,
of light (units)
(units)
G
B
A
» Time »Time

{Go onto the next page)
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22

16

Natalie walked barefooted on some floor tiles and then on a wooden floor.

floor tiles wooden floor

Why did she feel cold on the tiles but not on the wooden floor?
(1) The tile lost heat to her feet.

(2) The wood gained heat from her feet.

(3) The tite is a poorer conductor of heat than wood.

{4) The tile is a better conductor of heat than wood.

Mother heated some buns with a liquid filling in a pot as shown in Diagram 1.
lid :
e b filling burst through
oot [ o Y wall of bun
(e (@ —  liquid filling
stove AT {~ ~ - 5— water @
Diagram 1 Diagram 2

After some time, Mother noticed the filling had burst through the wall of the bun
as shown in Diagram 2.

Which of the following best explains why?
(1) The filling lost heat and contracted more.

(2) The filling lost heat and expanded more.
(3) The filling gained heat and expanded more.

{4) The filling gained heat and contracted more.

{Go on to the next page)
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23 Ranifilled a container with water as shown in Diagram 1. She then put in a metal
cube into the container and observed that the water level rose as shown in

Diagram 2 below.
N 4

150mi

AN

4

180ml

— cube

Diagram 1

Diagram 2

Which one of the following statements best explains Rani's observation?

(1) The cube took up space in

the container.

(2) The water increased in mass when the cube was put in.

(3) The water increased in volume when the cube was put in.

(4) The cube increased in volume when it was placed into the container.

24 Mandy was doing some exercises with an inflated gym ball as shown below.

What would happen to the air in the gym ball when she was balancing on it?

(1) The mass of air decreases.

(2) The volume of air increases.

(3) The mass of air remains the same.

{(4) The mass and volume of air decreases.

End of section A
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2

For questions 25 to 35, write your answers in the spaces provided. The number of marks available
is shown in brackets [ ]at the end of each question or part question, [32 marks]

25 Study the classification chart below.

Living things
T |
L
i
bread mould
Wb I
mushroom
hibiscus plant :
Choose the correct words from the box to give suitable headings for K and L. [2]
rﬂowering plants non-flowering plants  fungi bacteria

{Go on to the next page)
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26 Kim carries some fruits in a clear plastic bag.

Fill in the blanks using the correct words in the box.

strong flexible waterproof light

(a) The plastic bag does not break even though the fruits are heavy.

This shows that the plastic bag is [11

(b) The fruits in the plastic bag will not get wet.

This is because the plastic bag is 1

2

{Go on to the next page}
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27 Wateris poured into a measuring cyclinder containing three marbles.

water —j

marble —]

(a) State the reading of the water level.

ml 1

Circle the correct answers for (b)

(b} Water can fill the spaces between the marbles because water has

no fixed ( mass / shape / volume). 1]

2

{(Go on to the next page)
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28 Magnet Q is brought near another magnet P.

\ o P

(a) As the poles of both magnets are facing each other, P and Q will

1]

(b) Qis the brought near a small steel ball.
small steel ball Q
Tick (v ) the box that shows the direction the steel ball will move. Il

|

4———@-——-—+

N

small steel ball

o, |

(Go on to the next page)
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29 Haijun conducts an experiment to investigate how light travels.

(a) Tick (v) the box for the set-up which allows Haijun to see the candlelight
when he looks through the hole at P. 1

(b) What can Haijun conclude about how light travels? 1]

2

(Go on to the next page)
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30 Study the life cycle of the frog as shown below carefully.

J Stage Y

®)
orQ 1
Stage X
g - ). Stage Z

(a) Which two characteristics of living things are shown in the life cycle of the frog? [1]
@)
(ii)

(b) What are two differences between the characteristics of the frog at stage Y and stage Z

of its life cycle? 21
Difference 1:
Difference 2:
3

{Go on to the next page)
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31 Siti had a plate of chicken rice for dinner. The graph below shows how the amount of
undigested food changed as the food passed through the different parts of her digestive
system.

Amount of undigested
fo?d {units)

-» Parts of digestive system

A B C D E

(a) What is digestion? {1]

@

(i) Explain how chewing helps in speeding up the digestion process. M

(b) Based onthe graph above, in which part of Siti's digestive system, A, B, C, D or E,

was the food completely digested? Give a reason for your answer. [1]
{c) Name the organ that represents part E and state its function. [1]
4

(Go on to the next page)
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32 Leela wrapped two identical glass beakers with different materials as shown
below. She filled both beakers with the same volume of hot water at 90°C, and
then placed them in a room at 28°C.

thermometer

plastic

‘fabric lid

hot water

{a) Leela observed that the temperature of hot water in both beakers decreased after
some time. Explain why. 11

{b) Leela measured the temperature of the water in set-up A at different times
and plotted her results in the graph shown below.

() Write in the box below the temperature observed after 12 hours. [11
(i) Draw aline in the graph to show how the temperature of water in set-up B changes over

time, compared to the temperature of water in set-up A. [1]

temperature {°C),
90
(bi) set-up A
s T T T T 1 T time (hcurs)
2 4 6 8 10 12

(¢) Why must Leela have the same volume of water in each set-up? 1

4

{Go on to the next page)
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33 Peter placed a cup of coffee on an electric warmer as shown below.

CUD - )
warmer air gap

= S / o table
s T e

Peter switched on the slectric warmer. The temperature of the coffee is shown
below.

Temperature (°C)
4

100

80

60 |1

40/

20

>+ Time (min)

0 2 4 i 8 10 12
(a) State whatis temperature. 1]

(b) What was the temperature of the coffee at 10 minutes? [1]

(c) Peter found that the top of the table under the electric warmer was not as hot as the cup.
Explain why. 2]

4

(Go on to the next page)
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34 Lily set up two electromagnets, set-ups A and B, using similar batteries.

bat{ery il bat'f‘?ry nail
10
coils

\wire t AR {,trayswith iron pinsm

set-up A

set-up B

She observed and recorded the number of iron pins attracted to each of the electromagnets

in the table below.

Set-up Number of iron pins attracted fo the
electromagnet ]
A 8
B 3

(a) Which set-up has a stronger electromagnet? Explain why.

i1

(b) Lily placed the two elecfromagnets at the same height above the trays with iron pins.
Explain how this will ensure a fair test.

(1

(¢) Suggest one change to set-up B if Lily wanfs the nail to atfract more iron pins.

(]

(d) She then changed the iron nail to copper nail to set-up A. What would she observe?

Explain your answer.

(1

4

{Go on to'the next page)
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35 The diagram below shows a girl walking close fo a streef lamp.

sfreet lamp
shadow
.ﬁ:ﬁp ’
A B C
(a) What property of light causes shadow to be formed? [1}

(b} What would happen to the length of her shadow as she walks from position A to B
and then to C? [11

(c) Explain why the size of the shadows would be shorter when the street lamp was raised
to a higher height. [11

End of paper
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Q1 2 Q2 4 Q3 3 Q4 2 Q5 13
a6 |2 Q7 |2 Q8 |3 Q9 |3 Qlo |2
Qi1 (1 Q2 |4 Qi3 |4 Q14 |1 Qis |1
laie [a Q17 |1 Q18 |3 Qe (3 Q20 |4
Q21 |4 Q22 |3 Q23 |1 Q24 13
32¢c | Leea used the same volume of water in each set-up to ensire a fair test so
that there will be only one changed variable which is the type of material used
to w-ap the breakers.
33a Temperature is the r;easurement of the degree of hotness er coldness of an
“objec
33b | 60°C
33c | Alr 15 a poor conductor of heat which slows down-heat flow: from the electric
warmer to the table top so the table top gains heat slower than the cup
34a | The e'ectromagnet in set-up A is stronger. The natl has more coils of wire
around it so it will have stronger magnetic force / strength.
34b | Keeping "¢ same height abevae the rays will ensure that the pins attracted
were due to the number of coils 6f \ /ire and not the height of the electromagnet
above the pins.
34c | Use more batteries / coil more wires around the nail.
34d The copper nail would not attract any iron pins as copper is non-magnetic and
cannot be magnetised.
35a | When light is completely blocked by an opaque object, a shadow is formed.
35b | Fhe length of her shadow would decrease as she walks from A to B and
increase when she walks from B to C.
35¢c | The light source / lamp is further away from the girl so the girl blocks less light.
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25 K: flowering plants
L: fungi
26a strong
26b waterproof
27a 8 (ml)
27b shape
28a repel _
28b o the right
29%a first set-up
28b Light tr‘av_-e!s-in a gttaight line
30a (i). | Living.things grow.
30a(if) | Living things reproduce ) o ‘
"30b The tadpale oreathes through gills and thé frog breathes through lungs and
{ moist skin A
The tadpole can be found/ live in water only while thefrog canbe found / live.
on land or in water.
31a(i) | Digestion 1s the-process whereby food is broken down into simolsr sunstances.
31a(ii) | Chewing he.us to break down the food into smaller pieces and it allows more
surfaee area of the-food-to be in contact with digestive juices for faster
digestion.
31b | PartD. The amount of undigested food leaving D stopped decreasing / became
constant at E.
gle "Large intestine. Water is absorbed from the undigested foad.
32a The water in the beakess lost heat to the surroundings.
32b(i) | 28°C
32b(il)

set-up A

T T ( 7 ; time (hours)
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